A ) 431 .Y
Coil | 5e Al 5,8 L oo A B G '
Loglidmeddllal s LGl X %y AR a

[l - 80— B - ] > 't 2a( 1)

[pbedind- o Hal- 4] Gl 556" (Y)

.[QGQM\_CM\_?XA\_QJ‘X\] calud aluy) & el (Y

[ e lie i ddle] Ml jia( £)

[ans— ine — 4] abima — 43 J gnia ] (A=) el (o)
[ dsia—all Glae— deli— Ja ] =) e

[Adabudl- alall <Y JLd] el G el ("l etz 5 5a aay(V)

Jobaall - DBl el — il ] Fiall" aloa(A)

[ ?L@m‘ - —ela JA\] &_ULA\ "?Ld\ bl " (‘1)

[ leladi— usm |l — 8 4] LMl iag(10)

g alay) Al ;L

1-1want to get a haircut . Let's go to the
a)museum b) zoo ¢) barber's shop d) post office
2 - She had six loaves of
a) chicken b) bread c) coffee
3 — He walks to school by

a)himself b) herself c) itself

do you read a newspaper ?

b) much c) were

a message ?

b)take c)eat
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